29

26



A-B

(%) = x100
=(A—1jx100
B
23
22 100
99.7 22 100.1
-0.4 100.1 22
0.4
99.7 -100.1 <100 = —0.4%
100 .1
23
99.7 100.1

30

22
23

100

0.4



(%) = — x100

(%) = x100

12

(%) = x 100

31



10

10

0.4

32

22
23

0.4

10



x 100
1,145
(96.0 -100.5)x 10' 000
= = %100 = -0.51
100.1
-0.51 4.6
10
22 23
(- »w—
%100
10 000 100.1 99.7 -0.4

2 525 100.1 99.3 -0.8 -0.20
2 122 100.0 99.8 -0.2 -0.04
704 100.1 103.1 3.0 0.21
345 100.3 95.2 -5.1 -0.18
405 101.5 101.0 -0.5 -0.02
428 100.2 100.0 -0.2 -0.01
1 421 100.5 101.2 0.6 0.10
334 97.8 98.0 0.2 0.01
1 145 100.5 96.0 -4.6 -0.51
569 98.6 103.8 5.3 0.30

33



34

26



105

101

3.96

35

31

30



36



	しくみと見方
	４　消費者物価指数の見方
	（１）消費者物価指数が表す物価の動きとは
	（２）変化率
	（３）物価の変動要因
	（４）指数と実感





